Best model for HELP J114358.827+011008.790 at z = 0.538 ¥2=1.76
OPTx2=1.7 IRy2=2.81 threshold (OPT IR)=12.31 [um]

] : Stellar attenuated
102 - S Stellar unattenuated
E . —— Dust emission
] —— AGN emission
1 = Model spectrum
10 E ® Model fluxes
E M Observed fluxes
— 109 3
> E
= E
£ ]
x 107 gy, o
=) E
(TR ]
1072 3
103 E
3074 -
= 1 E
© 1 == (Obs-Mod)/Obs
S ]
S
n
] 0 J R —— - —————————————— — —————————————————
—_
o ] I
2 ]
S ]
r_u—l T —— CiGEAL
()
(o'

10° 10! 102 103 10% A
Observed wavelength [um]



